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36.  If    are  unit  vectors  such  that  .   and    then  a)    are  non­coplanar  b) 

 are non ­coplanar c)  are non parallel d)   are parallel and   are parallel
  

 Watch Free Video Solution on Doubtnut
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If  the  vectors    form  the  sides   respectively,  of  triangle      b. 

 c.   d. 
  

 Watch Free Video Solution on Doubtnut
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Two adjacent sides of a parallelogram   are given by   The side    is  rotated by an
acute angle   in the plane of the parallelogram so that   becomes   If   makes a right angle with the side   then the cosine of the angel 

 is given by   b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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The value of   so that the volume of parallelepiped formed by   is minimum is   b.   c.   d. 
  

 Watch Free Video Solution on Doubtnut
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If   be the volume of a tetrahedron and   be the volume of another  tetrahedran formed by the centroids of  faces of  the previous tetrahedron and 
 is equal to   b.   c.   d. 

  
 Watch Free Video Solution on Doubtnut
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  are  the  vertices  of  the  triangle  ABC  and    is  any  point  in  the  plane  of  triangle  ABC  ,  then 

 is always equal to 
 

 
 Watch Free Video Solution on Doubtnut
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If 

are a.  b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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Let    If    is  a  unit  vector  such  that    then    equals  a.   b. 

 c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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If   and   then the altitude of the parallelepiped formed by the vectors   and   having base

formed by   and   is (where  is reciprocal vector   )
  

 Watch Free Video Solution on Doubtnut
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If    then  in  the  reciprocal  system  of  vectors    reciprocal    of  vector    is  a.   b. 

 c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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Let   be three vectors. A vector   in the plane of   whose projection on   is   is

given by a.  b.   c.   d. 
  

 Watch Free Video Solution on Doubtnut
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c = î + ĵ + 2k̂and(1 + α) î + β(1 + α)ĵ + γ(1 + α)(1 + β)k̂ =

→
a × (

→
b ×

→
c ), thenα, βandγ

−2, − 4, −
2

3
2, − 4,

2

3
−2, 4,

2

3
2, 4, −

2

3

→
a = î − ĵ,
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b = ĵ − k̂and

→
c = k̂ − î.
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Let two non­collinear unit vector   a n d   form an acute angle. A point   moves so that at any time   the position vector   is the origin  is

given  by    is  farthest  from  origin    let    be  the  length  of    be  the  unit  vector  along    Then  (a)

  (b)    (c)    (d) 

 

 
 Watch Free Video Solution on Doubtnut
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Let   A vector in the plane of   whose projectionof   is   is a.   b. 
 c.   d. 

  
 Watch Free Video Solution on Doubtnut
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The unit vector which is orthogonal to the vector   and is coplanar with vectors   is   b. 

c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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Let    and  a  unit  vector    be  coplanar.  If    is  perpendicular  to    then    is    b. 

 c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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If   are non­coplanar unit vectors such that   , then the angle between   is a.   b.   c. 

d. 
  

 Watch Free Video Solution on Doubtnut
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Let   be vectors such that   If   then   is   b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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If    are  three  non­coplanar  vectors,  then    equals    b.    c.    d. 

 
 
 Watch Free Video Solution on Doubtnut
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  are  three  mutually  perpendicular  vectors  of  the  same  magnitude.  If  vector    satisfies  the  equation 

  is  given  by  a.   b. 

 c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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Let  vectors    be  such  that    Let    be  planes  determined  by  the  pair  of  vectors 

 respectively. Then the angle between   is a.  b.   c.   d. 
  

 Watch Free Video Solution on Doubtnut
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If the two diagonals of one its faces are   and of the edges not containing the given diagonals is   then the volume of
a parallelepiped is   b.   c.   d. 

  
 Watch Free Video Solution on Doubtnut
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The volume of a tetrahedron formed by the coterminous edges   is 3. Then the volume of the parallelepiped formed by the coterminous

edges   is   b.   c.   d. 9
  

 Watch Free Video Solution on Doubtnut
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If   are three mutually orthogonal unit vectors, then the triple product  equals   b.   c.   d. 3
 

 
 Watch Free Video Solution on Doubtnut
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Vector   is perpendicular to vectors   and satisfies the condition   Then vector 

is equal to a.  b.   c.   d. none of these
  

 Watch Free Video Solution on Doubtnut
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The scalar   equals a.  b.   c.   d. none of these
 

 
 Watch Free Video Solution on Doubtnut
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The volume of he parallelepiped whose sides are given by   is a.  b.   c.   d. 
 

 
 Watch Free Video Solution on Doubtnut
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For non­zero vectors   holds if and only if a.  b.   c. 

 d. 
  

 Watch Free Video Solution on Doubtnut
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 are unit vectors. Then  for any arbitrary vector    is always equal  to a.  b. 

 c.   d. none of these
 

 
 Watch Free Video Solution on Doubtnut
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Value of   is always equal to   b.   c.   d. none of these
 

 
 Watch Free Video Solution on Doubtnut
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If    then    is  equal  to  a  vector  perpendicular  to  the  plane  of   b.  a  scalar

quantity c.   d. none of these
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Let   and   be the points on the plane with position vectors   respectively. The quadrilateral   must
be a Parallelogram, which is neither a rhombus nor a rectangle Square Rectangle, but not a square Rhombus, but not a square

  
 Watch Free Video Solution on Doubtnut
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The  condition  for  equations    to  be  consistent  is    b.    c.    d. 

  
 Watch Free Video Solution on Doubtnut
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If    or  some  nonzero  vector    then  the  area  of  the  triangle  whose  vertices  are 

 are non­coplanar    b.   c.   d. none of these
 

 
 Watch Free Video Solution on Doubtnut
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If    are  nonzero  vectors,  then    can  be  coplanar    must  be

coplanar   cannot be coplanar none of these
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Let    If    is a unit vector,  then the maximum value of  the scalar  triple product    is   b.   c. 
 d. 
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If   are unit coplanar vectors, then the scalar triple product   is   b.   c.   d. 
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If   are unit vectors, then   does not exceed   b.   c.   d. 
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Let  . If   is a vector such that   and the angle between   is  ,

then   equals :
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If  , then vector   in terms of   satisfying the equations   is 
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Let   and   be the two unit vectors such that angle between them is  . Then   is equal to: (a)   (b)   (c) 0 (d) 1 (e) 
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